CLIMATE WARMING AFFECTS WATER TEMPERATURE IN THE RIVER DANUBE AND TRIBUTARIES – PRESENT AND FUTURE PERSPECTIVES

MARTIN T. DOKULIL*

Martin T. Dokulil: Climate warming affects water temperature in the River Danube and tributaries – present and future perspectives. Geomorphologica Slovaca et Bohemica, 18, 2018, 1, 2 figs., 3 tabs., 18 refs.

Global warming increasingly impacts rivers and streams worldwide. Long-term water temperature data from the River Danube and selected tributaries collected by the Austrian Hydrographic Survey were analysed. To show trends unequivocal, monthly mean water temperature data are investigated from stations in the Austrian Danube covering the period 1901–2015. These data are related to air temperature, precipitation and discharge. Significant relations of air to water temperature are established at all stations. Results indicate a highly significant increase of about 1.4°C, equivalent to 0.01°C per year. Temperature trends are extrapolated to 2050 using multiple regression analyses and scenarios of future changes in air temperature and discharge.

Key words: climate change, rivers, long-term trend, surface water temperature, prediction

INTRODUCTION

The climate warming presently observed and their future projections indicate increase in temperatures of inland water, changes in timing and quantity of river-runoff, and rise in precipitation with great variations across Europe (KOVATS et al. 2014). The latest update on water temperature by the European Environment Agency (EEA 2016) indicates water temperature increase by 1-3°C over the last century in major European rivers which will further increase as air temperatures rise. Similar increase has been calculated and projected by VAN VLIET et al. (2011) for global river temperatures using data from rivers world-wide including the River Danube at Bratislava. In Europe, investigations on river temperature have a long tradition (FORSTER 1894). Recent advances have been summarized by WEBB et al. (2008).

Earlier investigations on the Danube and tributaries for the period 1901 to 1995 have shown that temperature rise varied largely between sites and that the thermal regime was altered by heated effluents, damming, forestry practices and water abstraction (WEBB and NOBILIS 1995, 2007).

An understanding of the thermal regime of rivers is essential for sustainable use, impact assessment, management and catchment orientated planning (CAISSIE 2006). This is particularly important when competition for water among countries become a problem. In the Danube River Basin 14 countries are involved.

Here the intention and main aim of the study is to present an update to earlier findings from the Austrian Danube and an outlook on future developments. The Null Hypothesis is no temperature increase due to climate warming.

MATERIAL AND METHODS

Long-term data from the River Danube and some of its tributaries were selected for analysis.

DATA ORIGIN AND TREATMENT

All data are annual or monthly averages of daily measurements extracted from the Yearbooks of the Austrian Hydrological Survey (HYDROGRAPHISCHER DIENST IN ÖS-TERREICH 1964a,b, 1973, 1985, 1986-2013, or downloaded from eHYD, http://ehyd.gv.at/). Ten gauging stations are available with water temperature measurements from which the four stations were selected for analysis. These stations are Linz-St. Margareten, Stein-Krems, Wien-Nußdorf and Hainburg. In addition, data from two tributaries, the River Inn at Schärding and the River March at Marchegg were analysed. Variables analysed were surface water

^{*} University Innsbruck, Research Department for Limnology, Mondsee, Mondseestrasse 9, A-5310 Mondsee, Austria, E-mail: martin.dokulil@univie.ac.at

temperature (SWT, °C), air temperature (AT, °C), discharge (DI, $m^3 s^{-1}$) and precipitation (PR, mm).

Discharge weighted SWT (T_0) was calculated from

$$T_0 = \frac{\sum_{i=1}^{12} T_0 Q_i}{\sum_{i=1}^{12} Q_i}$$
 1

and annual heat flux (Z_t) from

$$Z_t = T_0 Q_{cs}$$
 2

both from PEKAROVA et al. (2008).

STATISTICAL TREATMENT

Descriptive statistics for all stations and variables are summarised in **Tab. 1**. Prior to analysis, all variables were tested for Normality (Kolmogorov-Smirnov) and equal variance using Levene's test. Time series were pre-whitened by robust regression analysis. Trends fitted using Lowess routines, linear and quadratic regression. Break points visualised by Rescaled Adjusted Partial Sums (RAPS) according to GAR-BRECHT and FERNANDEZ (1994)

$$\sum_{t=1}^{k} \frac{Y_t - \bar{Y}}{S_Y} \qquad 3$$

Parametric analysis and forecasts used linear and polynomial regression.

RESULTS

The statistical data in **Tab. 1** show great consistence between all four variables of the four stations. Annual averages, minima and maxima increase slightly downstream except for precipitation. The high coherence of the four locations is substantiated in the cross-correlation coefficients of the variables in **Tab 2**.

Detailed results will therefore be presented only for the upstream station Linz and the downstream location at Hainburg. The well-established connection between AT and SWT (e. g. WEBB et al. 2003, TOFOLON 2015)) is shown for the River Danube at Linz in **Fig. 1**. The mean monthly cycle results in a hysteresis with SWTs higher than AT in Fall (**Fig. 1A**) and winter (**Fig. 1B**)

Annual average SWTs are shown for station Linz and station Hainburg for the period 1901 to 2015 in **Fig. 2**. Data indicate a regime shift at about 1980 which is substantiated by RAPS. The resulting data pattern can best be described by quadratic regression allowing extrapolation to the year 2050. The SWTs estimated for 2050 are in close agreement (12.8° C for Linz and 12.9for Hainburg). Similar results are obtained when a linear trend is calculated for the period after 1980 and extrapolated to 2050 (Linz 13.0° C, Hainburg 13.4° C). Coefficients and statistics for linear and quadratic regressions are summarized together with the corresponding SWTs estimated for 2050 in **Tab. 3**.



Fig. 1 Monthly mean long-term hysteresis of air temperature (AT) versus surface water temperature (SWT) of the River Danube for station Linz (A) and average annual temperature cycle for AT and SWT (B).

Martin T. Dokulil

GEOMORPHOLOGIA SLOVACA ET BOHEMICA 1/2018

	Linz	Krems	Wien	Hainburg	Linz	Krems	Wien	Kittsee
Observation	115	115	115	115	115	115	115	115
Missing	0	8	1	0	0	9	3	7
Minimum	8.29	8.32	8.48	8.69	7.08	7.61	7.64	7.78
Maximum	11.36	11.58	11.86	11.95	11.58	11.49	13.17	11.82
1. Quartile	9.00	9.09	9.10	9.42	8.70	9.12	9.43	9.57
Median	9.40	9.47	9.65	9.90	9.33	9.67	10.01	10.09
3. Quartile	9.83	9.89	10.08	10.28	9.84	10.09	10.47	10.46
Mean	9.46	9.52	9.72	9.95	9.29	9.62	10.00	10.03
Variance	0.45	0.41	0.58	0.47	0.72	0.55	0.79	0.56
Std. error	0.67	0.64	0.76	0.68	0.85	0.74	0.89	0.75

	DI Linz	DI Krems	DI Wien	DI Hainburg	PR Linz	PR Krems	PR Wein	PR Kittsee
Observation	115	115	115	115	115	115	115	115
Missing	0	8	0	76	2	9	0	2
Minimum	956	1,326	1,395	1,543	533	297	323	383
Maximum	1,997	2,525	2,580	2,506	2,092	761	952	959
1 st Quartile	1,241	1,652	1,672	1,760	759	453	508	536
Median	1,416	1,843	1,890	1,855	837	532	602	623
3 rd Quartile	1,624	2,067	2,141	2,049	921	616	701	688
Mean	1,438	1,852	1,908	1,914	853	535	613	616
Variance	52,870	74,936	84,694	54,043	31,159	10,061	17,678	13,271
Std. error	230	274	291	232	177	100	133	115

Tab. 1 Descriptive statistics for the four stations. SWT = Surface water temperature, AT = Air temperature (both as °C), DI Discharge (m³ s⁻¹), PR = Precipitation (mm y⁻¹). Annual data

MM AT	Krems	Wien	Hainburg
Linz	0.992	0.993	0.993
Krems		0.994	0.995
Wien			0.997
MM SWT	Krems	Wien	Hainburg
Linz	0.993	0.991	0.993
Krems		0.996	0.997
Wien			0.997
MM DI	Krems	Wien	Hainburg
Linz	0.996	0.996	0.996
Krems		0.993	0.992
Wien			0.993

Tab. 2 Cross-correlation between stations. Monthly means (MM) of air temperature (AT), surface water temperature (SWT) and discharge (DI), N \geq 1000, P \leq 0.0000 for all.

Average surface water temperature in the River Danube has increased at all four sites by about 1°C from the pre-1980 period (1901-1980) to the post1980 period (1981-2015). The prediction for 2050 is a further rise by mor than 2°C. This means that long term averages of SWTs for 1901-1980 which ranged from 9.15°C to 9.65°C at the four sites, rose to mean values

between 10.18°C and 10.64°C in 1981-2015 and are likely to further increase to 12.8-12.9°C until 2050 (**Tab. 3**, last column). These predictions of an increase by about 0.5°C per decade are conservative estimates assuming that the rise in AT will be no more than 2°C. Fall and winter have already changed in 1960 1nd 1972 respectively while shifts occurred in spring and sum-



Fig. 2 Annual average surface water temperature (SWT) for the River Danube at station Linz (A) and Hainburg (B) for the period 1901 to 2015. Data are smoothed by lowess function. The overall trend is described by a nonlinear (quadratic) regression also used for extrapolation to 2050. Readjusted partial sums (RAPS) of the data indicate a break point in 1980. The trend thereafter can be defined by a linear regression extrapolated to 2050.

mer in 1988. This illustrates different sensitivity to warming.

An analysis of the long-term changes in seasonal SWTs for the location Linz reveals that all four seasons are equally impacted. SWTs will increase by about 0,2°C per decade in autumn and winter while 0.3°C per decade are likely in spring and summer. Break points according to RAPS however, were rather different. Long term annual SWTs of most of the larger tribute-

Linear		Coefficient	Std. Error	t	Р	R ²	Ν	°C 2050
Linz	Const.	-92.215	13.717	-6.723	< 0.001	0.615	37	13.0
	Slope	0.0513	0.00687	7.471	< 0.001			
Hainburg	Const.	-94.219	13.957	-6.751	< 0.001	0.617	37	13.4
	Slope	0.0525	0.00699	7.515	< 0.001			
Quadratic								
Linz	y 0	903.762	147.474	6.128	< 0.0001	0.687	115	12,8
	а	-0.930	0.151	-6.177	< 0.0001			
	b	0.0002418	0.00003845	6.289	< 0.0001			
Krems	y ₀	1032.063	189.942	5.434	< 0.0001	0.533	106	12.6
	а	-1.060	0.194	-5.450	< 0.0001			
	b	0.0002745	0.00004975	5.517	< 0.0001			
Wien	y ₀	696.105	178.599	3.898	0.0002	0.614	115	12.8
	а	-0.719	0.183	-3.939	0.0001			
	b	0.0001881	0.00004662	4.034	0.0001			
Hainburg	y ₀	706.608	156.132	4.526	< 0.0001	0.649	115	12.9
	а	-0.729	0.159	-4.568	< 0.0001			
	b	0.0001903	0.00004071	4.675	< 0.0001			

Tab. 3 Coefficients and statistics for linear and quadratic regressions shown in Fig 2. SWTs estimated by extrapolation are summarized in the last column.

ries seem to increase at a rate of 0.3°C per decade as results from the River Inn, Traun and March (Morava) indicate (results not shown here).

Using discharge (DI) weighted mean SWTs according to equation (1), trends, break points, results and predictions are almost similar (not shown here). Long term average discharge however, has somewhat declined at all sites and will perhaps further decline as air temperatures increase and precipitation patterns change.

The heat flux can be used a s further indication of warming because water has a high specific heat capacity. The calculated annual heat flow at Vienna ranged from 67 to 122 GJ s⁻¹. Interannual variability was high throughout the 1901-2015 period with an insignificant trend of 0.6 GJ per decade.

An attempt was made to model the dependent variable SWT from a linear combination of independent variables. The best performace was achieved using a combination of air temperature (AT), discharge (DI) and a periodic function. For the SWT at Vienna the resulting equation turned out as:

To test whether the observed SWT warming is related to climate via teleconnection to the in-

fluence of the North Atlantic Oscillation (NAO), relations of AT and SWT to the NAO index were calculated for the four stations analysed. NAO indices were obtained from HURRELL et al. (2017). Both AT and SWT were positively correlated (statistical significance p < 0.001 or better) to the NAO signal in winter and spring as well as annually. Warming rates during summer and fall however, were negatively related. Air temperature was generally stronger correlated than was SWT.

DISCUSSION

The long-term data from the River Danube show a significant rise in surface water temperature in the 20th century. As the RASPs from the time series indicate, temperature rise became more pronounced after 1980 and continued into the 21st century until now. WEBB and NOBILIS (2007) suggested a somewhat earlier break point in the years after 1970). The increase of the SWT is largely related to the rising air temperature as has been shown. Changes of mean river temperatures of up to and more than 2°C, as anticipated for 2050 could have a profound impact on the freshwater fauna (DOKULIL et al. 1993, 2015, PÖCKL et al. 2003). Correlations of AT and SWT from the Danube stations to the NAO signal were very similar to the results obtained by WEBB and NOBILIS (2007) for several river locations in Austria described by a nonlinear (quadratic) regression also used for extrapolation to 2050. Readjusted partial sums (RAPS) of the data indicate a break point in 1980. The trend thereafter can be defined by a linear regression extrapolated to 2050.

Trends of warming and relations to the NAO reported from the Serbian stretch of the Danube by BASARIN et al. (2016) are rather like to the results obtained here. Observations from the River Rhine in Germany point into the same direction as for the Danube.

Finally, all key message of the EEA (2016) point in the same direction as mentionad already; increase of SWT in rivers by 1-3°C, projected further increase with mar-ked changes in species composition and functioning of the ecosystems.

SUMMARY

All investigated stations on the River Danube are significantly cross-correlated. Surface water temperature (SWT) largely depends on Air Temperature (AT). Average AT and WT have increase by 0.7 and 1.2°C respectively and will likely further increase until 2050 by 0.7°C for AT and 1.3°C for WT. Discharge weighted SWT has significantly increase since 1979 while annual heat flux marginally increased. Correlations of both AT and SWT to the NAO were significant in winter and spring as well as annually. SWT can be predicted to a very high degree from AT, DI and a Periodic function.

REFERENCES

BASARIN, B., LUKIC, T., PAVIC, D., WIL-BY, R. L. (2016). Trends and multi-annual variability of water temperatures in the river Danube, Serbia. *Hydrological Processes*, 10, 18, 3315–3329.

CAISSIE, D. (2006). The thermal regime of rivers: a review. *Freshwater Biology*, 51, 1389 – 1406.

DOKULIL, M. T., HUMPESCH, U. H., PÖCKL, M., SCHMIDT, R. (1993). Auswirkungen geänderter Klima-verhältnisse auf die Ökologie von Oberflächengewässer in Österreich. -In Bestandsaufnahme - Anthropogene Klimaänderungen: Mögliche Auswirkungen auf Österreich - Mögliche Maßnahmen in Österreich. Dokumentation (Hg. Komm. Reinhaltung d. Luft d. Österr. Akad. Wiss.) 5.1-5.82. BMfWF und BMfUJF, Wien.

EEA (2016) Water temperature. European Environmental Agency. https://www.eea.europa.eu/data-and-maps/indicators/water-temperature-2/assessment. On-line [April 4th 2018].

FORSTER, A. (1894). Die Temperatur fliessender Gewässer Mitteleuropas. *Geographische Abhandlungen*, 5, 73 – 84.

GARBRECHT, J., FERNANDEZ, G. P. (1994). Visualization of trends and fluctuations in climatic records. *Water Resources Bulletin*, 30, 2, 297–306.

HURRELL, J. (2017). The Climate Data Guide: Hurrell North Atlantic Oscillation (NAO) Index (station-based). National Center for Atmospheric Research Staff, < https://climatedataguide.ucar.edu/climate-data/hurrell-north-atlantic-oscillation-nao-index-station-based> .On-line [April 9th 2018].

KOVATS, R. S., VALENTINI, R., BOUWER, L. M., GEORGOPOULOU, E., JACOB, D., MARTIN, E., ROUNSEVELL, M., SOUSSA-NA, J. F. (2014). Europe. In Barros, V. R., Field, C. B., Dokken, D. J., Mastrandrea, M. D., Mach, K. J., Bilir, T. E., Chatterjee, M., Ebi, K. L., Estrada, Y. O., Genova, R. C., Girma, B., Kissel, E. S., Levy, A. N., Maccracken, S., Mastrandrea, P. R., White, L. L., eds. Climate Change 2014: Impacts, Adaptation, and Vulnerability. Part B: Regional Aspects. Contribution of Working Group II to the Fifth Assessment Report of the Intergovernmental Panel on Climate Change, Cambridge University Press, Cambridge and New York, 1267 – 1326.

PEKAROVA, P., HALMOVA, D., MIKLA-NEK, P., ONDERKA, M. (2008a). Is the Water Temperature of the Danube River at Bratislava, Slovakia, Rising? *Journal of Hydrometeorology*, 9, 1115 – 1122.

PEKAROVA, P., SKODA, P., MIKLANEK, P., HALMOVA, D., PEKAR, J. (2008b). Detection of changes in flow variability of the upper Danube between 1876–2006. *Earth and Environmental Science*, 4, 012028.

PÖCKL, M., WEBB, B. W., SUTCLIFFE, D. W. (2003). Life history and reproductive capacity of *Gammarus fossarum* and *G. roeseli* (Crustacea: Amphipoda) under naturally fluctuating water temperatures: a simulation study. *Fresh*- Martin T. Dokulil

water Biology, 48, 53 – 66.

TOFFOLON, M., PICCOLROAZ, S. (2015). A hybrid model for river water temperature as a function of air temperature and discharge. *Environmental Research Letters*, 10, 114011.

VAN VLIET, M. T. H., LUDWIG, F., ZWOLS-MAN, J. J. G., WEEDON, G. P., KABAT, P. (2011). Global river temperatures and sensitivity to atmospheric warming and changes in river flow. *Water Resources Research*, 47, W02544.

WEBB, B. W., WALLING, D. E. (1992). Long term water temperature behavior and trends in a Devon, UK, river system. *Hydrological Sciences*, 37, 6, 567 – 580.

GEOMORPHOLOGIA SLOVACA ET BOHEMICA 1/2018

WEBB, B. W., NOBILIS, F. (1995). Long term water temperature trends in Austrian rivers. *Hy-drological Sciences*, 40, 1, 83 – 96.

WEBB, B. W., NOBILIS, F. (2007). Long-term changes in river temperature and the influence of climatic and hydrological factors. *Hydrological Sciences Journal*, 52, 1, 74 – 85.

WEBB, M. S., CLACK, P. D., WALLING, D. E. (2003). Water-air temperature relationships in a Devon river system and the role of flow. *Water Resources Research*, 17, 3069 – 3084.

WEBB, B. W., HANNAH, D. N., MOORE, R. D., BROWN, L. E., NOBILIS, F. (2008). Recent advances in stream and river temperature research. *Hydrological Processes*, 22, 902 – 918.